


What is the bus stop method?
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What is the bus stop method?

|
Formal Metrod

2 126

You always begin your sums with the 100s
column.
How s this different from other methods

of working out sums?
| | | |




804 * 4 =

——First we

can build

the number.




804 + 4 =

| |
Step 2: Group the hundreds

. . How many times does 4 go into 8?

Next we will group the hundrends.
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Step 3: Group the tens and ones G VO up t’/\e 105 and 1—5. I

BEREENEEN How many groups can you make? -
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o There are 69 strawberries. If 3 strawberries fit on to one stick, how ‘ —— ~
many full sticks can be made? . —
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We conv represent thuy differently

Try and work Hus owt:
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48 2 = Try fo- lay vy guestion ot uv tire formaod
) metrool below: Yow can always use place
value cowntersy to- helpp yow




= Ty fo Lo i gueeshion ot it formal
" T method belows Yow can always use place
value couwntersy to- helpp yow
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Answers: -
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4454 30 EEE-O s A
40 ¢ 2 PO FEEEEEENS = -
40 +4 10 492032 | 245 2 =421
59335 15 —966 -3 322 1 qeq 3 = 323
66 53 22 505 25 101 1 g42 24=212
46 2 25 844 24 211 o5 2 3 = 201

9999 % 3 = 3333

6009 + 3 = 2003




Mild:

Use <, > or = to complete the

- Statements.

60+3( )96=+3
6+4( )96+3

N+7( )84+6

Spicy:
|

| Explain the difference between the informal method of

division and the formal method.




Answers: |

 Spicy:
|

riane

Explain the difference between the informal method of

| |
Use <, > or = to complete the
statements.
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69 +3&K) 96+ 3

division and the formal method.




